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Unit 6. LOBAL WARMING

PART A: VOCABULARY AND GRAMMAR REVIEW

A. VOCABULARY 

absorb 


/əbˈzɔːb/ 

(v) 
thấm, hút 

atmosphere 

/ˈætməsfɪə(r)/ 

(n) 
khí quyển

awareness 

/əˈweənəs/ 

(n) 
sự nhận thức, hiểu biết, quan tâm

ban 


/bæn/ 


(v)
cấm

capture 

/ˈkæptʃə(r)/ 

(v) 
lưu lại, giam giữ lại

carbon footprint 
/ˌkɑːbən ˈfʊtprɪnt/ 
(n) 
lượng khí CO, thải ra hằng ngày của một cá nhân hoặc nhà 

máy...

catastrophic 

/ˌkætəˈstrɒfɪk/ 

(adj) 
thảm họa

clean-up 

/ˈkliːn ʌp/ 

(n) 
sự dọn dẹp, làm sạch, tổng vệ sinh

climate change 
/ˈklaɪmət tʃeɪndʒ/ 
(n) 
biến đổi khí hậu

diversity 

/daɪˈvɜːsəti/ 

(n) 
sự đa dạng

drought 

/draʊt/ 


(n) 
hạn hán

ecological 

/ˌiːkəˈlɒdʒɪkl/ 

(adj) 
thuộc về sinh thái

ecosystem 

/ˈiːkəʊsɪstəm/ 

(n) 
hệ sinh thái

emission 

/iˈmɪʃn/ 

(n)
(danh từ không đếm được) sự phát (sáng), tỏa (nhiệt), xả 

(khí)

famine 

/'fæmɪn/ 

(n)
nạn đói kém

greenhouse gas 
/ˌɡriːnhaʊs 'gæs/
(n) 
chất khí gây hiệu ứng nhà kính 

heat-related 

/hiːt - rɪˈleɪtɪd / 
(adj) 
có liên quan tới nhiệt

infectious 

/ɪnˈfekʃəs/ 

(adj)
lây nhiễm, lan truyền

oil spill 

/ˈɔɪl - spɪl/ 

(n.p) 
tràn dầu 

B. GRAMMAR REVIEW 

* PHÂN TỪ: 2 LOẠI 

Present participle (phân từ hiện tại): 
+ Ving (dùng cho active): đơn 

+ Having PII: hoàn thành 

Past participle (phân từ quả khử):
+ PII (Passive) 

+ Having been PII

1. Một chủ ngữ thực hiện hai hay nhiều hoạt động đồng thời 

	S+ V1......., Ving......

                (thực thể)


Ex: 
- He walked along the street, singing massively. 

- My neighbor fell off the ladder, breaking three teeth. 

2. Kết hợp 2 câu đơn 

	S1 + V1 …...., S2 + V2 ............

 → Ving / Having PII ............ , S1 + V2

                  → PII / having been PII , S1 + V2


Ex: 
Susan felt tired. She went to bed early. 

→ Feeling tired, Susan went to bed early. 

Ex: 
He was punished by the teacher. He was sad. 

→ Punished by the teacher, he was sad. 

Ex: 
They have lived here for a long time. They know about it clearly. 

→ Having lived here for a long time, they know about it clearly. 

3. Rút gọn mệnh đề quan hệ: 

	S(N) + Ving + ... + be/V...

S(N) + PII (chia thì) + be/V...

S + be/ V + O(N)  │  + Ving

                              (chia thì)         │  + PII


Ex: 
The man who lives next to me is a doctor. 

→ The man living next to me is a doctor. 

Ex: 
Many things considered impossible in the past have come in reality now. 

PART B: MULTIPLE CHOICE QUESTIONS
A. PHONETICS 

I. Find the word which has a different sound in the part underlined. 

1. A. dinner 

B. disappear 

C. discover 

D. dinosaur 

2. A. robot 

B. robe 

C. rock 

D. role 

3. A. constant 

B. modern 

C. obvious 

D. robot 

4. A. continue 

B. finish 

C. likely 

D. instant 

5. A. annual 

B. basic 

C. average 

D. capacity 

II. Choose the word which has a different stress pattern from the others. 

6. A. importance 
B. happiness 

C. employment 
D. relation 

7. A. possible 

B. cultural 

C. confident 

D. supportive 

8. A. office 

B. nature 

C. result 

D. farmer 

9. A. difficult 

B. popular 

C. effective 

D. national 

10. A. answer 

B. reply 

C. singer 

D. future 

B. VOCABUALRY AND GRAMMAR 

I. Choose the best answer A, B, C or D to complete the sentences. 

11. Developed countries are responsible for 80% of the ____ carbon dioxide that is already in the atmosphere. 

A. man-made 

B. men-made 

C. man-making 
D. man-mades 

12. The government must take ____ to cut vehicle emissions. 

A. measures 

B. repeat 

C. discover 

D. ban 

13. They didn't forget ____ a short vacation in Cuc Phuong National Park last year. 

A. being spent 
B. having been spent 
C. to spend 

D. having spent 

14. The effects of climate change on humans and nature are ____. 

A. catastrophic 
B. temperature 
C. global 

D. risk 

15. A layer of greenhouse gases – primarily water vapor, and carbon dioxide - acts as a ____ blanket for the Earth, absorbing heat and warming the surface. 

A. heat 

B. heating 

C. thermal 

D. hot 

16. We admired the Japanese ____ the city of Fukushima after the disaster. 

A. to being rebuilt 
B. for having rebuilt 
C. to rebuild 

D. of having rebuilt 

17. We need to preserve the ____ of wildlife because each species has an important role to play. 

A. diversity 

B. various 

C. population 

D. type 

18. Most climate scientists agree the main cause of the current global warming trend is human expansion of the greenhouse ____.

A. gas 


B. damage 

C. cause 

D. effect 

19. ____ trees around the house on the south and west sides, they can save up to about $250 a year on cooling and heating. 

A. Having planted 
B. Being planted 
C. To plant 

D. To have planted 

20. The increase in the earth's temperature can cause ____illness which can be dangerous to people. 

A. heat-related 
B. heat-relate 

C. heat-relating 
D. heated-relate 

21. Certain ____ in the atmosphere, such as carbon dioxide, methane and nitrous oxide, block heat from escaping. 

A. gases 

B. layers 

C. effects 

D. emissions 

22. Having developed green technologies with low-carbon emissions, ____ intends to get rid of coal. 

A. that country 
B. the communities 
C. the effort 

D. the possibility 

23. Carbon dioxide is one of the primary ____ gases that cause global warming. 

A. greenhouse 
B. house 

C. plant 

D. home 

24. Carbon dioxide is released through ____ processes such as respiration and volcano eruptions and through ____ activities such as deforestation, land use change, and burning fossil fuels. 

A. man-made 

B. ordinary-man-made 
C. human natural 
D. natural-human 

25. Vietnam has been named among the 12 countries most ____ for climate change by the World Bank. 

A. at danger 

B. in risk 

C. at risk 

D. ready 

C. READING 

I. Choose the word or phrase among A, B, C or D that best fits the blank space in the following passage. 

Consequences of Global Warming on Wildlife

Increasing global temperatures are expected to (26) ____ ecosystems, pushing extinction to those species that cannot adapt. The first comprehensive assessment of the extinction risk (27) ____ global warming found that more than 1 million species could be extinctive by 2050 if the current rate continues. 

A recent study of (28) ____ 2,000 species of plants and animals discovered movement toward the poles at an average rate 3.8 miles per decade. 

The latest climate change report found that approximately 20 to 30 percent of plant and animal species assessed so far are likely to be at (29) ____ risk of extinction if global average temperature increases by more than 2.7 to 4.5 degree Fahrenheit. 

(30) ____ polar bears are drowning because they have to swim longer distances to reach ice floes. The U.S. Geological Survey has predicted that (31) ____ of the world's polar bear populations will be extinct by the mid-century due to melting of the Arctic ice cap. 

The ocean will continue to become more acidic due to carbon dioxide emissions. (32) ____ this acidification, species with hard calcium carbonate shells are vulnerable, as are coral reefs, (33) ____ 

are vital to ocean ecosystems. Scientists predict that a 3.6 degree Fahrenheit increase (34) ____ temperature would (35) ____ out 97 percent of the world's coral feels. 

26. A. endanger 
B. benefit 

C. harm 

D. use 

27. A. to 

B. from 

C. off 


D. on 

28. A. nearly 

B. near 

C. relatively 

D. wealthy 

29. A. declined 
B. born 

C. presented 

D. increased 

30. A. Some 

B. Few 

C. More 

D. Little 

31. A. two-third 
B. two-thirds 

C. two-three 

D. two-thirdth 

32. A. As 

B. Due 

C. Because 

D. Because of 

33. A. that 

B. when 

C. which 

D. who 

34. A. away 

B. in 


C. at 


D. of 

35. A. send 

B. broke 

C. wipe 

D. lay 

II. Read the passage and choose the best answer. 

The world's oceans have warmed 50 percent faster over the last 40 years than previously thought due to climate change, Australian and US climate researchers reported Wednesday. Higher ocean temperatures expand the volume of water, contributing to a rise in sea levels that is submerging small island nations and threatening to wreak havoc in low-lying, densely populated delta regions around the globe. 

The study, published in the British journal Nature, adds to a growing scientific chorus of warnings about the pace and consequences rising oceans. It also serves as a corrective to a massive report issued last year by the Nobel-winning UN Intergovernmental Panel on Climate Change (IPCC), according to the authors. 

Rising sea levels are driven by two things: the thermal expansion of sea water, and additional water from melting sources of ice. Both processes are caused by global warming. The ice sheet that sits atop Greenland, for example, contains enough water to raise world ocean levels by seven metres (23 feet), which would bury sea-level cities from Dhaka to Shanghai. 

Trying to figure out how much each of these factors contributes to rising sea levels is critically important to understanding climate change, and forecasting future temperature rises, scientists say. But up to now, there has been a perplexing gap between the projections of computer-based climate models, and the observations of scientists gathering data from the oceans. 

The new study, led by Catia Domingues of the Centre for Australian Weather and Climate Research, is the first to reconcile the models with observed data. Using new techniques to assess ocean temperatures to a depth of 700 metres (2,300 feet) from 1961 to 2003, it shows that thermal warming contributed to a 0.53 millimetre-per-year rise in sea levels rather than the 0.32 mm rise reported by the IPCC. 

36. Ultimately, the new study should help scientists to ____.

A. lower water levels. 





B. better predict climate change. 

C. bury sea-level cities like Dhaka and Shanghai. 

37. The rise in water levels is especially dangerous for small island nations and ____.

A. low-lying urban areas. 

B. all coastal cities. 

C. people who live on the beach. 

38. What happens when the ocean's temperature rises? 

A. It causes sea levels to rise.    B. It causes sea levels to remain constant.      C. It causes sea levels to decrease. 

39. What was the main finding of the study? 

A. not enough is being done about global warming. 

B. ocean waters have warmed faster than scientists had previously thought. 

C. the warming of the world's oceans is not a threat. 

40. The new study ____.

A. shows that thermal warming contributed to a 0.32 millimeter-per-year rise in sea levels. 

B. did not reveal anything that scientists didn't already know. 

C. used new techniques to assess ocean temperatures. 

PART C. WRITING

I. Rewrite the sentences, using perfect gerunds. 

1. Nam won a scholarship. We are excited about that fact. 

→ …………………………………………………………………………………………….
2. Entering the room, I was surprised at what I saw. 

→ …………………………………………………………………………………………….

3. The volunteers couldn't mow the old lady's lawns because of the rain. 

→ …………………………………………………………………………………………….

4. Since we have become too dependent on the use of electricity, we have to find alternative sources of energy before fossil fuels run out. 

→ …………………………………………………………………………………………….

5. Tonya had dumped a lot of rubbish on the beach. She was strongly criticised for that. 

→ …………………………………………………………………………………………….

6. In the Tree Planting Competition, the students in Group 11G planted the most trees in the schoolyard. They were praised for that. 

→ …………………………………………………………………………………………….

7. After she replaced all the light bulbs in her house with LED lights, she same a lot of money on her electricity bills. 

→ …………………………………………………………………………………………….

8. Sam had not worked hard enough in his previous job. He regretted it. 

→ …………………………………………………………………………………………….

9. Someone had cut down the oldest tree in the park. The police suspected Mike of doing it. 

→ …………………………………………………………………………………………….

10. Since the farmers used too much chemical fertiliser on their farm, they now have to drink polluted water. 

→ …………………………………………………………………………………………….

II. Rewrite the sentences, using perfect gerunds. 

1. After Ha had read some documents about Green Earth, she decided to join the organization.

→ …………………………………………………………………………………………….

2. I have seen him before. I remember that. 

→ …………………………………………………………………………………………….

3. You had saved the lives of hundreds of wild animals. Thank you for that. 

→ …………………………………………………………………………………………….

4. They had hunted and killed many wild animals. Later they regretted what they had done. 

→ …………………………………………………………………………………………….

5. Since Mai had refused Nam's offer of a lift in his car, she had to walk home. 

→ …………………………………………………………………………………………….

III. Rewrite the following sentences using the words in the brackets 

1. Having spent the whole day cleaning up my room, I needed to take a shower and have a rest. (Because)

→ …………………………………………………………………………………………….

2. Having finished all my homework, I watched my favourite film on TV. (After)

→ …………………………………………………………………………………………….

3. Having watched the documentary about wildlife, I made a donation to an environmental society. (After) 
→ …………………………………………………………………………………………….

4. Having read the stories about people who reduced their carbon footprint, we started to change our daily consumption habits. (After)

→ …………………………………………………………………………………………….

.
5. Having managed water resources irresponsibly, the authorities had to deal with water shortages in the region. (Since)

→ …………………………………………………………………………………………….

THE END
